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Q.2 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Permanent
2. Pedagogy
3. Permutation
4. Pensioner
5. Peculation

Ans 1. 2, 5, 3, 1, 4

2. 5, 4, 2, 1, 3

3. 5, 2, 4, 1, 3

4. 2, 5, 1, 4, 3

Question ID : 6549786558

Status : Answered

Chosen Option : 3

Q.3 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

K _ N U M _ L _ U M K L N _ _

Ans 1. L K N U M

2. U N K M L

3. K U N L M

4. K N U M L

Question ID : 6549789791

Status : Answered

Chosen Option : 1

Q.4 Select the correct combination of mathematical signs to sequentially replace the *
signs and balance the given equation.

2 * 400 * 7605 * 9 * 45 = 0

Ans 1. −,×, ÷, +

2. ×, ÷,−, +

3. ×, −, ÷, +

4. −,×, +, ÷

Question ID : 6549788168

Status : Answered

Chosen Option : 3

Q.5 ‘Orthopaedician’ is related to ‘Bones’ and ‘Dermatologist’ is related to ‘Skin’ in the
same way as ‘Neonatologist’ is related to ‘______’.

Ans 1. Infants

2. Hormones

3. Nervous system

4. Immunity

Question ID : 6549788178

Status : Answered

Chosen Option : 4
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Question ID : 6549786570

Status : Answered

Chosen Option : 1

Q.7 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

FLORA : AFLOR : : ALTER : ?

Ans 1. RTALE

2. RATLE

3. AERLT

4. AELRT

Question ID : 6549788177

Status : Marked For Review

Chosen Option : 2
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Question ID : 6549786569

Status : Answered

Chosen Option : 3

Q.9 Three of the following four words are alike in a certain way and one is different. Select
the odd one.

Ans 1. Grunt

2. Cygnet

3. Nymph

4. Fawn

Question ID : 6549788183

Status : Not Answered

Chosen Option : --
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Question ID : 6549786571

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Downloaded From :http://sscportal.in/

Downloaded From :http://sscportal.in/ Courtesy : CHSL

http://sscportal.in/
http://sscportal.in/
https://sscportal.in/ebook


Q.11 In a certain code language, LOCATE is coded as 243024264022 and POETRY is coded
as 323022403650. How will AVOID be coded in that language?

Ans 1. 2644301823

2. 2441632803

3. 2643408132

4. 2446180323

Question ID : 6549786560

Status : Marked For Review

Chosen Option : 2

Q.12 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans 1. PBGF

2. MNBS

3. HJDT

4. LKHZ

Question ID : 6549786566

Status : Answered

Chosen Option : 4

Q.13 Select the number that can replace the question mark (?) in the following series.

23, 29, 31, 37, 41, 43, 47, ?

Ans 1. 49

2. 59

3. 51

4. 53

Question ID : 6549788172

Status : Answered

Chosen Option : 4

Q.14 In a code language, SILVER is written as JDQMXQ and WISDOM is written as IDRJXR.
How will KENSTAR be written as in that language?

Ans 1. FZPWINY

2. FZWIPYN

3. FZPIWNY

4. FPZWINY

Question ID : 6549788175

Status :
Not Attempted and
Marked For Review

Chosen Option : --
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Q.15 Four numbers have been given, out of which three are alike in some manner and one
is different. Select the number that is different.

Ans 1. 5378

2. 8276

3. 6394

4. 7286

Question ID : 6549786557

Status : Answered

Chosen Option : 3

Q.16 In the following question, the second number is related to the first number in some
way, choose the alternative which is similarly related to the third number.

64 : 729 : : 49 : ?

Ans 1. 512

2. 645

3. 489

4. 558

Question ID : 6549786553

Status : Answered

Chosen Option : 1
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Ans
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Question ID : 6549788188

Status : Answered

Chosen Option : 3

Q.18 The ratio of the monthly incomes of three employees, Saloni, Reema and Kalyani, is 54
: 21 : 59, respectively. If Reema’s annual income is ₹5,04,000, what is the sum of
Saloni’s and Kalyani’s annual income?

Ans 1. ₹27,21,000

2. ₹27,12,000

3. ₹21,27,000

4. ₹21,72,000

Question ID : 6549786551

Status : Answered

Chosen Option : 2
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Q.19 Three statements are given, followed by four conclusions numbered I, II, III and IV.
Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:
All books are pens.
All pens are erasers.
All erasers are files.

Conclusions :
I. All pens are files.
II. All pens are books.
III. All files are books.
IV. All files are pens.

Ans 1. Both conclusions II and IV follow

2. Only conclusion I follows

3. Only conclusion III follows

4. Neither conclusion I nor II follows

Question ID : 6549788184

Status : Answered

Chosen Option : 2

Q.20

Ans
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Question ID : 6549786575

Status : Answered

Chosen Option : 4
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Q.21 Select the option in which the words share the same relationship as that shared by the
given pair of words.

Bind : Release

Ans 1. Gorgeous : Dazzling

2. Cunning : Smart

3. Genuine : Spurious

4. Blame : Criticism

Question ID : 6549786565

Status : Answered

Chosen Option : 3

Q.22 Study the given pattern carefully and select the number that can replace the question
mark (?) in it.

10 58 4
8 34 2
6 90 ?

Ans 1. 14

2. 8

3. 12

4. 10

Question ID : 6549786555

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Q.23 Select the set in which the numbers are related in the same way as are the numbers of
the following set.

(19, 53, 215)

Ans 1. (13, 35, 143)

2. (15, 49, 199)

3. (18, 50, 230)

4. (17, 47,112)

Question ID : 6549788170

Status :
Not Attempted and
Marked For Review

Chosen Option : --
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Q.24

Ans

1. 

2. 

3. 

4. 

Question ID : 6549788189

Status : Answered

Chosen Option : 2

Q.25 If 'A & B' means 'A is the brother of B', 'A # B' means 'A is the daughter of B', and 'A @
B' means 'A is the wife of B', then how is K related to Z in the following expression?

'Z @ R & T # H @ K'

Ans 1. Father-in-law

2. Paternal grandfather

3. Paternal uncle

4. Father

Question ID : 6549787372

Status :
Not Attempted and
Marked For Review

Chosen Option : --
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